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Y5 67202 Regular and irregular polygons Maths Measure and label the sides and angles of each shape.
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n Measure and label the sides and angles of each shape.
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0 What do you notice about your answers?

These are all examples of irregular polygons.

Explain in your own words what an irregular polygon is.

What do you notice about your answers?

@

These are all examples of regular polygons.

Explain in your own words what a regular polygon is.
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- One polygon in each setis regular. Tick the regular polygon. “ Here is a rhombus Q
' -4
a) S / f % i :
This is a regular polygon
b) because all the sides are
the same length.
74
<)
RI Do you agree with Ron? __NO
Explain your answer.
d)
Q @ The Qn3Un are not aid equiok.

How did you know which one was regular without measuring?

n Eva has drawn a square and a regular pentagon.
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Draw two regular and two irregular polygons on the grid.
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The compound shape is
regular because both of the
shapes | drew were regular.

Do you agree with Eva? No

Compare your polygons with a partner. Explain your answer.

What is the same and what isdifferent?

@




Reasoning about 3D shapes Complete the sentences.

a) The faces of a__ i oe are all square.
b) A square-based pyramid has | [, |triangular faces and l
n Match the net to the correct label. \ﬁ‘] square face.

c) The net of a Cg‘jh'ndg[ ismade up of 2 circles and

a rectangle.
cube
The net of a cuboid is
made up of 4 rectangles
and 2 squares.
Y
Whitney

The net of a cuboid is
made up of 6 rectangles.

square-based
pyramid

Who do you agree with? Circle your answer.

W hitney Rosie both of them

Explain your reasons.

O
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- Tick the diagram that isthe net of a cone.

il 0 0

Compare answers with a partner.

Draw the net for a triangular prism on the squared grid.

n Draw an accurate net for this cuboid on the squared grid.
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7 Draw two different cuboids on the isometric paper.
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Reflection

n Reflect each shape in the mirror line.

a) |
b) |
c)

d)

e)

f)

N

Reflect each shape in the mirror line.

==

a)

b)

f)
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Which diagrams show a correct reflection in the given mirror line?

Tick your answers.

i
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- n Five points are plotted on a coordinate grid. @
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Talk to a partner about the mistakes that have been made. O |
\) 54 1 R
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] 2 | A
4 Reflect the objects in the given mirror lines. 3 1
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2 3 a) Join the points to form a polygon. This is the object. @
2 2 What type of polygon is the object? 9enta3m
14 14
— ) X I KNS S N S —r b) Reflect the object in the given mirror line.
0 1 23 456 7 0 123 456 7 © WhitRose .
What type of polygafsisdthe image? pentagon
] \J
b) » d ¢) Label the reflected vertices P, Q, R, S and T.

N
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Write the new coordinates.
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14 d) The image and the object are identical polygons.

— X — X Is this statement true or false? True
6 7 0 1 2 3 45 6 7

Talk about it with a partner.




Translation

- Complete the translations.

a) Translate the shape
4 squares to the right.

s

c) Translate the shape
4 squares right, 2 squares up.

b) Translate the shape
2 squares up.

d) Translate the shape 3
squares left, 5 squares down.

Four shapes have been drawn on a grid.

3

w

o

a) Translate shape A 5 squares to the right and 3 squares down.

b) Translate shape B 4 squares to the left and 7 squares down.
c) Translate shape C 6 squares to the left.

d) Translate shape D 4 squares to the right and 8 squares up.

Dora has translated triangle A 2 squares to the right and
7 squares up.

=
o)
1

P NDWHAOOO O N 0O

0 123456789 10

Is Dora’s drawing correct?

&
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- Complete the sentences to describe the translations. n Eight polygons are drawn on the grid.

A
A E

/
a) Shape A has beentranslated 3 squares to the right and I D D

Q squares down. H E

b) Shape B has been translated | 7 |squares to the LE[;t

&

and| ) |squares WP n

c) Shape C has been translated 5 squares to the r\‘.g\r\k

and | () |squares __up /down

a) Translate shape A 10 squaresup.

n A shape has been drawn on acoordinate grid.

y b) Translate shape B 6 squares down.

13' c) Translate shape C 6 squares left.
3: d) Translate shape D 9 squares to the right and 4 squares down.
a) Translate shape D 4 squares 6 %/
to the left and 6 squares up. 5 \) e) Translate shape E 10 squares to the right and 3 squaresdown.
Label the new shape E. g f) Translate shape F 7 squares to the right and 3 squares up.
2
1 : : : : g) Translate shape G 9 squares to the left and 1 square up.
b) Describe the translation p x
from shape E to shape D. 0 123456789 10 Create your own problem like this for a partner. O

L Squars & khe ciowt and 6 squaey dewn

What do you notice? Does this always happen?
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Problem solving and reasoning

Amir is incorrect,
the shape is

A translated two to
‘ the right and three
B C down. It will fit on

this grid.

p*

2 3 456 7 8%
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Triangle ABC is translated so that point B
translates to point D

[ It won't fit on this }

id!
er Amir

Do you agree with Amir?
Explain your thinking.

(7, 1)
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A triangle is drawn on the grid.
|t is translated so that point A translates to
point B.

What would be the coordinates of the
other vertices of the translated triangle?
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Problem solving and reasoning

¥ The (2,9) y There are two
M i st g
10 ! coordinate is 10 . possibilities for the
9 :
8 i incorrect, it should : E object.
7 I 7 j
. i be (5, 9). ‘ ]
5 : e - JI. _______
4 i 4 ;
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1 : " 1 :
[T 2335678910 ol 1 2345678610
Eva reflects the shape in the mirror line.
She thinks that the coordinates of the This is a shape after it has been reflected.
vertices for the reflected shape are: This is called the image.
(5, 5) [ (2,5) ] (2,9) ] Use the grid and the marked mirror lines
to show where the original object was
Is Eva is correct? positioned.

Explain why.
Is there more than one possibility?



